

Title	Social determinants of health, goals and outcomes in high-risk children with type 1 diabetes
Authors	Hershey, J. A.;Morone, J.;Lipman, T. H.;Hawkes, Colin P.
Publication date	2021-03-02
Original Citation	Hershey, J. A., Morone, J., Lipman, T. H. and Hawkes, C. P. (2021) 'Social determinants of health, goals and outcomes in high-risk children with type 1 diabetes', Canadian Journal of Diabetes, 45(5), pp.444-450. https://doi.org/10.1016/j.jcjd.2021.02.005
Type of publication	Article (peer-reviewed)
Link to publisher's version	10.1016/j.jcjd.2021.02.005
Rights	© 2021, Canadian Diabetes Association. Published by Elsevier Ltd. All rights reserved. This manuscript version is made available under the CC BY-NC-ND 4.0 license. - https://creativecommons.org/licenses/by-nc-nd/4.0/
Download date	2026-10-11 01:32:52
Item downloaded from	https://hdl.handle.net/10468/11129

Journal Pre-proof

Social Determinants of Health, Goals and Outcomes in High-Risk Children with Type 1 Diabetes

J.A. Hershey, J. Morone, T.H. Lipman, C.P. Hawkes



PII: S1499-2671(21)00061-7

DOI: <https://doi.org/10.1016/j.jcjd.2021.02.005>

Reference: JCJD 1424

To appear in: *Canadian Journal of Diabetes*

Received Date: 11 November 2020

Revised Date: 23 February 2021

Accepted Date: 24 February 2021

Please cite this article as: Hershey J, Morone J, Lipman T, Hawkes C, Social Determinants of Health, Goals and Outcomes in High-Risk Children with Type 1 Diabetes, *Canadian Journal of Diabetes* (2021), doi: <https://doi.org/10.1016/j.jcjd.2021.02.005>.

This is a PDF file of an article that has undergone enhancements after acceptance, such as the addition of a cover page and metadata, and formatting for readability, but it is not yet the definitive version of record. This version will undergo additional copyediting, typesetting and review before it is published in its final form, but we are providing this version to give early visibility of the article. Please note that, during the production process, errors may be discovered which could affect the content, and all legal disclaimers that apply to the journal pertain.

© 2021 Canadian Diabetes Association.

Social Determinants of Health, Goals and Outcomes in High-Risk Children with Type 1 Diabetes

¹Hershey JA, ^{2,3}Morone J, ^{4,5,6}Lipman TH, ^{4,5,7}Hawkes CP

¹Department of Social Work, The Children's Hospital of Philadelphia, Philadelphia, USA

²Yale University, School of Medicine New Haven, CT, USA

³Veterans Affairs Office of Academic Affiliations, West Haven, CT, USA

⁴Division of Endocrinology and Diabetes, The Children's Hospital of Philadelphia, Philadelphia, USA

⁵Perelman School of Medicine, University of Pennsylvania, Philadelphia, USA

⁶University of Pennsylvania School of Nursing, Philadelphia, USA

⁷Department of Pediatrics and Child Health, University College Cork, Cork, Ireland

Correspondence should be addressed to

Colin Hawkes, MD PhD, Division of Pediatric Endocrinology and Diabetes, The Children's Hospital of Philadelphia, 3401 Civic Center Blvd, Philadelphia, PA, 19104.

Email: hawkes@chop.edu

Tel: 01-215-590-3174

Fax: 01-215-590-3053

Key messages:

- 1) Despite advances in technology and type 1 diabetes care, children from low-income continue to have suboptimal outcomes and increased healthcare utilization.
- 2) Screening for adverse social determinants of health and addressing these barriers to glycemic control is not part of routine care of children and their families.
- 3) In children with poorly controlled diabetes, we have demonstrated a high prevalence of adverse social determinants of health, a potentially modifiable factor.

Keywords: social determinants, type 1 diabetes, socioeconomic status, goals, screening

Abstract Word Count: 251

Document Word Count: 3112; 4 tables

Author Disclosures:

Dr Hawkes, Dr Morone, Dr Lipman and Ms Hershey have nothing to disclose.

Funding Sources: This study was funded by a Chair's Initiative Grant by The Children's Hospital of Philadelphia and by School of Nursing Faculty Grant Award by The University of Pennsylvania School of Nursing.

Acknowledgements: N/A

Abstract

Introduction

Despite advances in technology and type 1 diabetes (T1D) care, children from low-income families continue to have suboptimal outcomes and increased healthcare utilization. This study aimed to describe social determinants of health (SDOH) in high-risk children with T1D, as well as their SDOH-related priority goals and to determine the correlation between SDOH, glycemic control, and healthcare utilization.

Methods

Caregivers of children aged 4 to 18 years with a diagnosis of T1D >1 year, poor glycemic control (hemoglobin A1c (A1C) $\geq 9.5\%$) or high healthcare utilization (≥ 2 diabetes-related hospitalizations, emergency department attendances, or missed outpatient appointments in the prior year) were included. Primary caregiver health-related quality of life (HRQOL), self-efficacy (MSED), and SDOH were assessed. Goals were identified following assessment by a community health worker.

Results

Fifty-three families were included; and most (n=48, 91%) had government insurance. Children had a median (IQR) age of 13.4 (12, 15.3) and median (IQR) A1C of 11.1 (10, 13) %. Almost half of the families (n=24, 45%) reported ≥ 1 adverse SDOH. One or more adverse SDOH was associated with significantly lower total HRQOL scores (56.6 [38.5, 70.7] vs. 77.8 [60.8, 92.4], $p=0.004$), but not associated with A1C ($p=0.3$), ED visits ($p=0.9$), or MSED ($p=0.5$).

Discussion

Screening for adverse SDOH and addressing these barriers to glycemic control is not part of routine T1D care. In children with poorly controlled T1D and high healthcare utilization, we have demonstrated a high

prevalence of adverse SDOH, which may represent a modifiable factor to improve outcomes in this patient population

Introduction

The majority of children with type 1 diabetes (T1D) have suboptimal glycemic control, especially during adolescence[1]. Low-income children, often from racial and ethnic minority communities, represent a particularly high-risk group[2, 3]. A recent study has demonstrated that North American children from low income have hemoglobin A1c (A1C) levels approximately 1.2% higher than those from higher income[4]. Despite advances in the role of technology in diabetes management, the gap in glycemic control in children of different income levels has been unchanged between 2010 and 2018, falling unduly on racial and ethnic minority youth[4]. Education-based interventions may disproportionately improve outcomes in those from higher income[5]. In addition, adoption of insulin pumps and continuous glucose monitors has been lower in those from lower income or ethnic minority groups[4, 6-8], possibly further widening the disparity in glycemic control.

Social determinants of health (SDOH) play a critical role in health outcomes. Material and social deprivation, as well as lower education levels, are associated with worse glycemic control in children[9] and increased risk of end-stage renal disease and coronary artery disease in adults with T1D[2]. Despite the association between social factors (including food insecurity, underinsurance, social supports, transportation and housing availability) and diabetes outcomes, screening for adverse SDOH[10] is not currently part of routine diabetes care[11, 12]. Furthermore, little is known regarding the specific goals that these families of children with T1D from lower income identify as their highest priorities[10]. Understanding these goals may help to identify supports that diabetes healthcare providers could focus on, in an effort to improve outcomes in this vulnerable population.

In 2017, our interdisciplinary team, housed within an urban pediatric academic medical center that provides care for approximately 2500 patients with diabetes, implemented a community health worker

(CHW) program. The goal of this program was to meet the needs of high-risk families and to address socioeconomic disparities across clinical outcomes in our T1D patient population[13]. These CHWs are members of the participants' community who have no specific training in T1D healthcare, but focus on partnering with families in addressing challenges related to SDOH. In this study we describe the baseline SDOH screening in this patient population and the specific goals identified by these families as priorities to address with the CHW. We also examine the correlation between baseline SDOH screening with glycemic control and healthcare utilization.

Methods

A prospective clinical study (NCT03475108) assessing the impact of CHWs in improving outcomes in children with T1D was performed at the Children's Hospital of Philadelphia. This study was approved by the Institutional Review Board at this hospital. Parent consent and, where relevant, child assent was provided for participation in this study. This study describes baseline data related to SDOH needs and goals of families at the initiation of receiving the CHW intervention.

Population

Caregivers of children and youth aged 4 to 18 years with a diagnosis of T1D for over one year were eligible for inclusion in this study if the child had poor glycemic control or high healthcare utilization. For the purposes of this study, we set the A1C threshold for inclusion $\geq 9.5\%$; high healthcare utilization was defined as ≥ 2 diabetes-related hospitalizations, diabetes-related emergency department attendances or missed outpatient diabetes appointments in the prior year. Participants were required to reside in Philadelphia County, or within a 30 minute drive of the hospital (to reduce travel time in the larger CHW intervention study). Participants were identified through the diabetes program's specific clinical registry that is paired with the medical records system. Within this registry, eligibility parameters were established based on criteria described previously. Patients who met criteria were then electronically "flagged" for recruitment. Eligible participants were confidentially recruited and consented in the diabetes clinic room

prior to their appointments. Those who consented to participate in the study, were enrolled and completed baseline measures. Participants were compensated for participation.

Questionnaires completed by primary caregivers

Social Determinants of Health

SDOH screening was completed by the primary caregiver on enrollment in this study. This questionnaire was developed by Health Leads USA[14] and includes ten questions. These questions screen for issues related to food insecurity, disconnected utilities, housing stability, child care, healthcare affordability, transportation, literacy, and safety. The final 2 questions of this tool ask the respondent if they would like assistance with any reported needs and if the need is urgent. The questions included in the measure are presented in Supplemental Table 1. A recent social needs screening analysis where this questionnaire was applied in an urban pediatric ambulatory care center in the Bronx, New York found 20% of 4949 unselected households reported one or more unmet social needs[15].

Health-Related Quality of Life

Primary caregiver health-related quality of life (HRQOL) was measured using the PedsQL Family Impact Module[16]. This consists of 36 items, in which caregivers self-report on their own functioning and family functioning as impacted by their child's health condition on a 5-point Likert scale. Scores range from 0-100, with higher scores indicative of better HRQOL. The Total Scale Score of the PedsQL Family Impact Module is the sum of all 36 items divided by the number of items answered. In addition, the measure also consists of two subscales: the Parent HRQOL Summary Score and the Family Functioning Summary Score. Parent HRQOL Summary Score consists of 20 items and is computed as the sum of the items divided by the number of items answered in the Physical, Emotional, Social, and Cognitive Functioning Scales. The Family Functioning Summary Score consists of 8 items and is computed as the sum of the items divided by the number of items answered in the Daily Activities and Family Relationships Scales. The Cronbach alpha for the PedsQL Family Impact Module Total Scale Score was

0.97, Parent HRQOL Summary Score was 0.96, and Family Functioning Summary Score was 0.90[16].

The PedsQL Family Impact Module is validated and has been used in studies of parental HRQOL in numerous pediatric chronic diseases including attention deficit and hyperactivity disorder[17] and sickle cell disease[18]. In a 2016 study using the 36-item PedsQL Family Impact Module, caregivers of adolescents with T1D in Saudi Arabia reported a mean Total Scale Score of 67.4, Parent HRQOL Summary Score of 66.7, and Family Functioning Summary Score of 73.1[19]. Similarly, in a recent study using a modified 25-item version of the PedsQL Family Impact Module conducted with 214 parents of children with T1D, mean total scores for non-intervention group parents ranged from 52-65.5[20].

Diabetes Self-Efficacy

The Maternal Self-Efficacy in Diabetes Scale (MSED) is the only tool designed specifically for parents of children with T1D[21]. It has been used in familial caregivers of children ranging from 4 to 21 years of age[22] and has been shown to correlate with glycemic control, with lower mean scores indicative of higher A1C levels[23].

The 17-item questionnaire asks the primary caregiver to rate their confidence in independently managing diabetes-related tasks on a 5-point scale ranging from 1 (*not at all confident*) to 5 (*very confident without help*)[21]. This study utilizes the scoring method proposed by Noser et al.'s exploratory factor analysis of the MSED[23]. Their analysis resulted in a three-factor model consisting of only 11 items from the original 17-item measure, total scores ranging from 11-55. The management subscale (MSED-M) evaluates parents' perceived ability to manage their child's T1D and consists of 2 items, scores ranging from 2-10. The problem-solving subscale (MSED-P) measures perceived ability to problem-solve issues surrounding glycemic control and consists of 6 items, scores ranging from 6-30. Lastly, the teaching subscale (MSED-T) measures perceived ability to teach their child about diabetes care and consists of 3 items, scores ranging from 3-15. The Cronbach alpha for the MSED total score was 0.83, MSED-M was

0.79, MSED-P was 0.79, and MSED-T was 0.76. The three-factor model has been previously tested among 135 caregivers and resulted in mean scores of 44.69 MSED total score, 7.77 MSED-M, 25.27 MSED-P, and 11.65 MSED-T[23].

Goal Setting

A multi-disciplinary study team including social work, medicine, nursing, and CHWs, was convened to determine the most effective and efficient process for capturing family goals. A focused assessment process for rapport-building and goal-setting with parents was developed and streamlined by the study team. This assessment was termed the ‘360 Goal-Setting Assessment’ and comprised of the assigned CHW reviewing perceived SDOH-related challenges with the medical team, the family, and the school. Following these interactions, the CHW met with the family to prioritize and formally agree upon the goals to address. A matrix of family goals collected from all study participants was compiled. A process of content analysis of the goals matrix was conducted by the study group.

Statistical Analysis

Data were summarized as mean $\pm$ standard deviation (SD) or median (interquartile range [IQR]) if normal or non-normal distribution, respectively. Continuous variables were compared using t-tests if normally distributed, or the Mann-Whitney U tests if non-normal distribution. Chi squared tests were used to compare proportions between groups.

Results

There were 53 families included in this study, 16 (30%) of whom were single-caregiver households. The median (IQR) age of the children was 13.4 (12, 15.3) years and median (IQR) duration of T1D was 4.5 (3.2, 6.9) years. Only 18 (34%) children used continuous glucose monitors and 10 (19%) used insulin pumps. Most (n=48, 91%) had government insurance and were non-Hispanic Black (NHB) (n=40, 76%). Median (IQR) A1C was 11.1 (10, 13) % and, over the prior year, 28 (53%) missed ≥ 1 appointment, 27

(51%) had ≥ 1 diabetes-related emergency department visit, and 15 (28%) had been admitted to the hospital, for diabetes related complications that included diabetic ketosis, diabetic ketoacidosis, and severe hypoglycemia (Table 1).

Social Determinants of Health

Almost half of the caregivers (n=24, 45%) reported one or more adverse SDOH on the Health Lead USA questionnaire, and almost three quarters (n=17, 71%) of those who reported a social need requested assistance. Of those who reported a social need, 4 (17%) identified this need as urgent requiring immediate assistance. Food insecurity (n=11, 21%), disconnected utilities (n=10, 19%) and unstable housing (n=9, 17%) were the most common issues reported. These needs were also the most commonly reported among those who requested assistance (n=8, 47%; n=6, 35%; n=7, 41%). The presence of one or more adverse SDOH ($p=0.03$), or food insecurity ($p=0.04$), were independently associated with missing one or more appointment over the prior year (Table 2, Supplemental Table 1).

Health Related Quality of Life

When compared with those who reported no adverse SDOH, those with one or more adverse SDOH had significantly lower total HRQOL scores (56.6 [38.5, 70.7] vs. 77.8 [60.8, 92.4], $p=0.004$), parent HRQOL summary scores (60 [39.7, 68.2] vs. 75 [58.8, 95.6], $p=0.004$) and family functioning summary scores (58.9 [43.1, 66.3] vs. 58.9 [43.1, 66.3], $p=0.005$). They were also more likely to have missed one or more clinic appointments in the prior year (71% vs 38%, $p=0.03$) (Table 2). Of note, there was no significant difference in A1C between those with, and without, a reported adverse SDOH (11% [9.9, 12.4] vs 11.7 [10.4, 13.6], $p=0.3$).

Diabetes Self-Efficacy

As presented in Table 2, there were no significant differences across MDES total and subscale scores between those who had no adverse SDOH and those who has at least one (Table 2). The MDES total,

MSED-Management, MSED-Problem-Solving, and MSED-Teaching scores were all substantially higher than prior normed samples²², suggesting higher diabetes-related self-efficacy in mastering overall diabetes-related management, problem-solving and teaching skills. Reasons for this difference in our sample may be attributable to the intensive level of clinical support and education provided by the diabetes clinic in this study. In this population where SDOH are the primary barriers to optimal diabetes control, diabetes education/knowledge, as captured by the MSED measures, is not likely to be the primary issue driving poorer outcomes.

Goals

There were 133 goals identified by families working with CHWs, with a mean of 2.5 and range of 1-4 goals per family. Twelve common themes emerged by group consensus. The twelve theme categories and examples of goals are presented in Table 3. The majority of goals reported were related to the first three categories, health and diabetes management, behavior and mental health, and living situation.

Discussion

We have demonstrated a high prevalence of adverse SDOH in the families of children with T1D who have elevated A1C or healthcare utilization. Within this population, those with one or more adverse SDOH, significantly lower HRQOL (both family functioning and parent HRQOL scores) was reported and higher rates of missed appointments were seen. This was despite similar glycemic control and diabetes self-efficacy, highlighting the impact of SDOH on healthcare utilization and HRQOL. High-priority goals identified by these families are in the remit of a CHW, suggesting a role for adding this member to the diabetes multidisciplinary team.

The prevalence of adverse SDOH in this population of children with poorly controlled T1D or high healthcare utilization was approximately twice as high as has been described in large unselected populations attending urban ambulatory pediatric clinics[15]. Adverse SDOH including housing

instability, poverty, food insecurity, lack of transportation and violence have negative implications on health[24, 25]. The most frequently cited SDOH challenges noted within this study were related to food insecurity, needing assistance with utilities, concerns for stable housing, and childcare. Screening for, and addressing, these needs can have positive effects on parental employment, connection with social resources, reducing homelessness[26] and improved food security[27]. CHWs may be uniquely placed to address SDOH, and prior studies have demonstrated their efficacy in improving, education, income, housing, neighborhood safety, food security, and social inclusion leading to improvements in overall pediatric and adult patient health[28-30].

Traditionally, diabetes outcomes have focused almost entirely on glycemic control and risk of developing complications. This disease places a significant burden on the family. Patient-reported outcomes, including quality of life and self-efficacy, can be a higher priority for some families than reducing A1C concentration[31]. Diabetes self-efficacy did not differ between parents who experienced no adverse SDOH and those who did. This disconnect between self-efficacy and glycemic control highlights the multifactorial drivers of glycemic control beyond self-efficacy, of which SDOH may be one. In fact, education-based interventions will improve glycemic control for some children, but those from lower income, predominantly NHB families (i.e. the majority of those included in this study), continue to have worse outcomes despite similar or better attendance at education or nutrition appointments[7], or exposure to intensive education programs[5]. The multitude of non-SDOH factors that may influence glycemic control in this population of children with poorly controlled diabetes may also explain the why there were similar A1C levels between those with and those without adverse SDOH in this study.

Families in this study proposed a wide range of prioritized SDOH-related goals. Among the eleven major categories of family goals captured in this study, the most common themes related to a broader need for social support, assistance with health system navigation and health literacy, and help accessing concrete material resources. The need for increased social support was demonstrated by goals that focused on

desires to improve family relationships and to develop, or enhance, social resource connections. Having low levels of social support have been associated with worse outcomes in T1D[32, 33]. Relative to the SDOH, family and friend relationships are considered a form of “social capital” and defined as, “those features of social relationships—such as levels of interpersonal trust and norms of reciprocity and mutual aid—that facilitate collective action for mutual benefit”[34]. Deficits in social capital contribute to a perpetuation of racial health disparities[25]. Health literacy impacts access to resources and chronic disease management and can pose significant barriers especially to low-income families, contributing to health inequities[35]. Similarly, basic necessities, such as food, housing, and transportation are integral to a family’s health and well-being and constitute concrete material needs[36]. Addressing these basic resource needs can have a positive impact on child health[37]. In this study, the most frequently identified goals related to addressing food insecurity, housing, transportation and utility supports. These are also common material resources requested by other pediatric families who live in poverty or low socioeconomic status within the U.S.[38].

The current hospital-based model of multidisciplinary diabetes care is not empowered to address these community-based challenges. However, the goals identified by these families are within the scope of a community-based health advocate, such as a CHW. CHWs routinely advocate for program eligibility and assist families with navigating healthcare and social safety net programs and offer help with completing application and enrollment forms[28, 39], facilitate connections with behavioral health professionals and social work teams qualified to improve family dynamics, and connect families with peer support resources[40] and networks[41]. However, SDOH screening needs to be implemented to routine diabetes care in order to identify and address the significant challenges faced by these families. As a comparison, depression screening is becoming a critical component of routine diabetes care and addressing depression, when identified, can improve outcomes[42-44]. A similar approach to SDOH is required if we are to address the well-described socioeconomic disparities in diabetes outcomes that exist.

A strength of this study is the detailed patient-reported outcome data in a high-risk population that is often under-represented in clinical research. Similarly, understanding the specific goals of these families are helpful in designing future patient-centered interventions. It should be noted, however, that this is a single-center study and includes a relatively small sample size of families based in Philadelphia. This may affect the generalizability of these data, as SDOH and goals are likely to be determined by the needs of the communities, as well as the availability of local services. Nevertheless, adverse SDOH are highly prevalent amongst children in the United States[15, 45], and this study highlights the utility of screening for these in pediatric diabetes.

Conclusion

Managing an intensive, complex and potentially life threatening pediatric chronic illness such as T1D places an enormous physical, mental and emotional burden on families. This chronic disease management burden disproportionately impacts families already experiencing increased social determinants barriers, such as housing, food, employment and utility insecurities. It has been increasingly established that social determinants and structural barriers create and perpetuate social and economic inequities and contribute significantly to health disparities seen in low-income families[24]. Additionally, health outcomes are more heavily influenced by social factors than by genetics or health behaviors. Particular to diabetes, measures of overall “social complexity,” indicative of increasing social determinant barriers such as low income, single parent families and housing insecurity, are correlated with higher rates of poor glycemic control[46]. We hypothesize that it will be extremely difficult to achieve optimal glycemic control in children without first addressing adverse SDOH. Growing evidence on the role of CHWs in addressing SDOH continues to show a positive impact on chronic disease outcomes in adult[47-49] and pediatric populations[50], particularly in patients with diabetes[51].

References

1. Hermann JM, Miller KM, Hofer SE, Clements MA, Karges W, Foster NC, et al. The Transatlantic HbA1c gap: differences in glycaemic control across the lifespan between people included in the US T1D Exchange Registry and those included in the German/Austrian DPV registry. *Diabet Med*. 2020;37(5):848-55.
2. Secrest AM, Costacou T, Gutelius B, Miller RG, Songer TJ, Orchard TJ. Associations between socioeconomic status and major complications in type 1 diabetes: the Pittsburgh epidemiology of diabetes complication (EDC) Study. *Ann Epidemiol*. 2011;21(5):374-81.
3. Carter PJ, Cutfield WS, Hofman PL, Gunn AJ, Wilson DA, Reed PW, et al. Ethnicity and social deprivation independently influence metabolic control in children with type 1 diabetes. *Diabetologia*. 2008;51(10):1835-42.
4. Addala A, Auzanneau M, Miller K, Maier W, Foster N, Kapellen T, et al. A decade of disparities in diabetes technology use and HbA1c in pediatric type 1 diabetes: a trans-Atlantic comparison. *Diabetes Care*. 2020(In Press).
5. Hawkes CP, Willi SM, Murphy KM. A structured 1-year education program for children with newly diagnosed type 1 diabetes improves early glycemic control. *Pediatr Diabetes*. 2019;20(4):460-7.
6. Lipman TH, Willi SM, Lai CW, Smith JA, Patil O, Hawkes CP. Insulin pump use in children with type 1 diabetes: Over a decade of disparities. *J Pediatr Nurs*. 2020;55:110-5.
7. Lipman TH, Smith JA, Patil O, Willi SM, Hawkes CP. Racial disparities in treatment and outcomes of children with type 1 diabetes. *Pediatric Diabetes*. Accepted, In Press 2020.
8. Lai CW, Lipman TH, Willi SM, Hawkes CP. Racial and Ethnic Disparities in Rates of Continuous Glucose Monitor Initiation and Continued Use in Children With Type 1 Diabetes. *Diabetes Care*. 2021;44(1):255-7.
9. Zuijdewijk CS, Cuerden M, Mahmud FH. Social determinants of health on glycemic control in pediatric type 1 diabetes. *J Pediatr*. 2013;162(4):730-5.

10. Morone J. An Integrative Review of Social Determinants of Health Assessment and Screening Tools Used in Pediatrics. *J Pediatr Nurs*. 2017;37:22-8.
11. American Diabetes A. 13. Children and Adolescents: Standards of Medical Care in Diabetes-2020. *Diabetes Care*. 2020;43(Suppl 1):S163-S82.
12. Lipman TH, Hawkes CP. Racial and Socioeconomic Disparities in Pediatric Type 1 Diabetes: Time for a Paradigm Shift in Approach. *Diabetes Care*. 2021;44(1):14-6.
13. Lipman TH, Smith JA, Hawkes CP. Community health workers and the care of children with type 1 diabetes. *J Pediatr Nurs*. 2019;49:111-2.
14. Health Leads USA. Social needs screening toolkit [Available from: <https://healthleadsusa.org/wp-content/uploads/2016/07/Health-Leads-Screening-Toolkit-July-2016.pdf>.
15. Fiori KP, Rehm CD, Sanderson D, Braganza S, Parsons A, Chodon T, et al. Integrating Social Needs Screening and Community Health Workers in Primary Care: The Community Linkage to Care Program. *Clin Pediatr (Phila)*. 2020;59(6):547-56.
16. Varni JW, Sherman SA, Burwinkle TM, Dickinson PE, Dixon P. The PedsQL Family Impact Module: preliminary reliability and validity. *Health and quality of life outcomes*. 2004;2:55.
17. Limbers CA, Ripperger-Suhler J, Boutton K, Ransom D, Varni JW. A comparative analysis of health-related quality of life and family impact between children with ADHD treated in a general pediatric clinic and a psychiatric clinic utilizing the PedsQL. *J Atten Disord*. 2011;15(5):392-402.
18. Panepinto JA, Hoffmann RG, Pajewski NM. A psychometric evaluation of the PedsQL Family Impact Module in parents of children with sickle cell disease. *Health Qual Life Outcomes*. 2009;7:32.
19. AlBuhairan F, Nasim M, Al Otaibi A, Shaheen NA, Al Jaser S, Al Alwan I. Health related quality of life and family impact of type 1 diabetes among adolescents in Saudi Arabia. *Diabetes research and clinical practice*. 2016;114:173-9.
20. Fiallo-Scharer R, Palta M, Chewning BA, Rajamanickam V, Wysocki T, Wetterneck TB, et al. Impact of family-centered tailoring of pediatric diabetes self-management resources. *Pediatr Diabetes*. 2019;20(7):1016-24.

21. Leonard BJ, Skay CL, Rheinberger MM. Self-management development in children and adolescents with diabetes: the role of maternal self-efficacy and conflict. *J Pediatr Nurs*. 1998;13(4):224-33.
22. Rasbach L, Jenkins C, Laffel L. An integrative review of self-efficacy measurement instruments in youth with type 1 diabetes. *Diabetes Educ*. 2015;41(1):43-58.
23. Noser AE, Patton SR, Van Allen J, Nelson MB, Clements MA. Evaluating Parents' Self-Efficacy for Diabetes Management in Pediatric Type 1 Diabetes. *Journal of Pediatric Psychology*. 2017;42(3):296-303.
24. Artiga S, Hinton E. Beyond health care: the role of social determinants in promoting health and health equity. *Health*. 2018;20(10).
25. Barr DA. *Health Disparities in the United States: Social Class, Race, Ethnicity, and the Social Determinants of Health*: Johns Hopkins University Press; 2019.
26. Garg A, Toy S, Tripodis Y, Silverstein M, Freeman E. Addressing social determinants of health at well child care visits: a cluster RCT. *Pediatrics*. 2015;135(2):e296-304.
27. Beck AF, Henize AW, Kahn RS, Reiber KL, Young JJ, Klein MD. Forging a pediatric primary care-community partnership to support food-insecure families. *Pediatrics*. 2014;134(2):e564-71.
28. McCalmont K, Norris J, Garzon A, Cisneros R, Greene H, Regino L, et al. Community Health Workers and Family Medicine Resident Education: Addressing the Social Determinants of Health. *Family medicine*. 2016;48(4):260-4.
29. Page-Reeves J, Kaufman W, Bleecker M, Norris J, McCalmont K, Ianakieva V, et al. Addressing Social Determinants of Health in a Clinic Setting: The WellRx Pilot in Albuquerque, New Mexico. *J Am Board Fam Med*. 2016;29(3):414-8.
30. Raphael JL, Rueda A, Lion KC, Giordano TP. The role of lay health workers in pediatric chronic disease: a systematic review. *Acad Pediatr*. 2013;13(5):408-20.

31. Marrero DG, Hilliard ME, Maahs DM, McAuliffe-Fogarty AH, Hunter CM. Using patient reported outcomes in diabetes research and practice: Recommendations from a national workshop. *Diabetes research and clinical practice*. 2019;153:23-9.
32. Naranjo D, Mulvaney S, McGrath M, Garner T, Hood K. Predictors of self-management in pediatric type 1 diabetes: individual, family, systemic, and technologic influences. *Curr Diab Rep*. 2014;14(11):544.
33. Joensen LE, Almdal TP, Willaing I. Associations between patient characteristics, social relations, diabetes management, quality of life, glycaemic control and emotional burden in type 1 diabetes. *Primary care diabetes*. 2016;10(1):41-50.
34. Kawachi I. Social capital and community effects on population and individual health. *Ann N Y Acad Sci*. 1999;896:120-30.
35. Nutbeam D, Lloyd JE. Understanding and Responding to Health Literacy as a Social Determinant of Health. *Annu Rev Public Health*. 2020.
36. Frank DA, Casey PH, Black MM, Rose-Jacobs R, Chilton M, Cutts D, et al. Cumulative hardship and wellness of low-income, young children: multisite surveillance study. *Pediatrics*. 2010;125(5):e1115-23.
37. Berkowitz SA, Hulberg AC, Standish S, Reznor G, Atlas SJ. Addressing Unmet Basic Resource Needs as Part of Chronic Cardiometabolic Disease Management. *JAMA Intern Med*. 2017;177(2):244-52.
38. Garg S, Brazg RL, Bailey TS, Buckingham BA, Slover RH, Klonoff DC, et al. Reduction in duration of hypoglycemia by automatic suspension of insulin delivery: the in-clinic ASPIRE study. *Diabetes Technol Ther*. 2012;14(3):205-9.
39. Kash BA, May ML, Tai-Seale M. Community health worker training and certification programs in the United States: findings from a national survey. *Health Policy*. 2007;80(1):32-42.
40. Perez LM, Martinez J. Community health workers: social justice and policy advocates for community health and well-being. *Am J Public Health*. 2008;98(1):11-4.

41. Lohr AM, Ingram M, Nunez AV, Reinschmidt KM, Carvajal SC. Community-Clinical Linkages With Community Health Workers in the United States: A Scoping Review. *Health Promot Pract*. 2018;19(3):349-60.
42. Corathers S, Mara CA, Chundi PK, Kichler JC. Depression and Suicide Screening in Adolescents With Type 1 Diabetes: 5-Years of Implementation and Outcomes. *J Am Acad Child Adolesc Psychiatry*. 2019.
43. Corathers SD, Kichler J, Jones NH, Houchen A, Jolly M, Morwessel N, et al. Improving depression screening for adolescents with type 1 diabetes. *Pediatrics*. 2013;132(5):e1395-402.
44. Gettings JM, Willi SM, Forth E, Hawkes CP. Integrating the Patient Health Questionnaire-2 depression screening tool into the paediatric diabetes clinic. *Diabet Med*. 2019;36(12):1718-9.
45. Ckrkic J, Petrovic A, Kocic K, Mitrovic M, Kavallieratos NG, van Achterberg C, et al. Phylogeny of the Subtribe Monoctonina (Hymenoptera, Braconidae, Aphidiinae). *Insects*. 2020;11(3).
46. Cottrell EK, O'Malley JP, Dambrun K, Park B, Hendricks MA, Xu H, et al. The Impact of Social and Clinical Complexity on Diabetes Control Measures. *J Am Board Fam Med*. 2020;33(4):600-10.
47. Viswanathan M, Kraschnewski JL, Nishikawa B, Morgan LC, Honeycutt AA, Thieda P, et al. Outcomes and costs of community health worker interventions: a systematic review. *Med Care*. 2010;48(9):792-808.
48. Kim K, Choi JS, Choi E, Nieman CL, Joo JH, Lin FR, et al. Effects of Community-Based Health Worker Interventions to Improve Chronic Disease Management and Care Among Vulnerable Populations: A Systematic Review. *Am J Public Health*. 2016;106(4):e3-e28.
49. Kangovi S, Mitra N, Norton L, Harte R, Zhao X, Carter T, et al. Effect of Community Health Worker Support on Clinical Outcomes of Low-Income Patients Across Primary Care Facilities: A Randomized Clinical Trial. *JAMA Intern Med*. 2018;178(12):1635-43.
50. Krieger JK, Takaro TK, Allen C, Song L, Weaver M, Chai S, et al. The Seattle-King County healthy homes project: implementation of a comprehensive approach to improving indoor environmental quality for low-income children with asthma. *Environ Health Perspect*. 2002;110 Suppl 2:311-22.

51. Svoren BM, Butler D, Levine BS, Anderson BJ, Laffel LM. Reducing acute adverse outcomes in youths with type 1 diabetes: a randomized, controlled trial. *Pediatrics*. 2003;112(4):914-22.

Journal Pre-proof

Table 1: Baseline demographics and clinical characteristics of children included in this study. Unless otherwise stated, data are presented as median (interquartile range).

Characteristic	n = 53
Age, years	13.4 (12, 15.3)
Male sex, n (%)	25 (47%)
Duration of T1D, years	4.5 (3.2, 6.9)
Continuous glucose monitor use	18 (34%)
Insulin pump use	10 (19%)
Hemoglobin A1c	11.1 (10, 13)
Government insurance, n (%)	48 (91%)
Healthcare utilization in prior year. n (%)	
Missed appointments	
0	25 (47%)
1-2	24 (45%)
> 2	4 (8%)
Hospital admissions	
0	38 (72%)
1-2	14 (26%)
> 2	1 (2%)
Emergency department visits	
0	26 (49%)
1-2	23 (43%)
> 2	4 (8%)
Race / ethnicity	
Non-Hispanic black	40 (76%)

Non-Hispanic white	8 (15%)
Hispanic	3 (6%)
Other	2 (3%)
Questionnaires	
PedsQL Family Impact Module Total Scale Score	67.4 (52.8, 87.8)
Parent HRQOL Summary Score	66.3 (51.9, 86.9)
Family Functioning Summary Score	71.9 (50, 96.9)
MSED Total Score	48 (41, 53)
MSED-M	9 (7.5, 10)
MSED-P	27 (23.5, 30)
MSED-T	13 (9.5, 15)
Social determinant of health screen, n (%)	
Food insecurity	11 (21%)
Disconnected utilities	10 (19%)
Concern for stable housing	9 (17%)
Childcare issues	7 (13%)
Healthcare cost	4 (8%)
Transport to healthcare	2 (4%)
Difficulty reading	2 (4%)
Safety at home	1 (2%)
<i>Help Requested</i>	17 (32%)
<i>Urgent Help Requested</i>	5 (9%)

Table 2: Comparison of clinical and psychosocial outcomes in those with, and without, one or more adverse social determinant of health (SDOH). Continuous variables compared using Mann Whitney U test, categorical variables using chi squared test.

Variable	No Adverse SDOH (n=29)	≥ 1 Adverse SDOH (n=24)	p
Age, years	14 (12, 16)	13.3 (11.5, 15.1)	0.5
Duration of diabetes, years	4.2 (2.9, 7)	5.1 (3.6, 7)	0.4
Hemoglobin A1c, %	11.7 (10.4, 13.6)	11 (9.9, 12.4)	0.3
≥ 1 missed appointment, n (%)	11 (38%)	17 (71%)	0.03
≥ 1 ED visit, n (%)	15 (52%)	12 (50%)	0.9
≥ 1 hospital admission, n (%)	9 (31%)	6 (25%)	0.8
PedsQL Family Impact Module Total Scale Score	77.8 (60.8, 92.4)	56.6 (38.5, 70.7)	0.004
Parent HRQOL Summary Score	75 (56.8, 95.6)	60 (39.7, 68.2)	0.004
Family Functioning Summary Score	81.3 (65.6, 100)	58.9 (43.1, 66.3)	0.005
MSED Total Score	47 (41, 51)	40 (41.3, 53)	0.5
MSED-Management	9 (7.5, 10)	8.5 (7.3, 10)	0.9
MSED-Problem-Solving	27 (22.5, 30)	28 (24, 30)	0.5
MSED-Teaching	13 (9.5, 14)	13 (9.3, 15)	0.6

Table 3: Goal categories selected by family working with a community health worker.

Goal Category	n	Example goals within this category
Health & Diabetes management	27 (20%)	Implement 504 plan Assist patient in applying for membership at local gym Obtain technology to manage diabetes Help to read medical documentation
Behavior & mental health	24 (18%)	Find therapist for parent, child or sibling Link with specialist to address child's depression Parent to practice self-care
Living situation	21 (16%)	Access affordable housing or affordable home renovations Help parent enroll in first time home owners program Assist in negotiating rental arrears
Support for caregiver or child	11 (8%)	Help to repair relationship with family Family to access peer support resources Connect with other children with diabetes
Food / nutrition	8 (6%)	Connect with resources to provide low cost fruit and vegetables
Benefits / government programs	7 (5%)	Link family with resources to assist with utility bills
Education	7 (5%)	Find and enroll patient in school
Relationship with medical team	7 (5%)	Develop open communication with the medical team Find new primary care physician for patient Support transition to adult diabetes care
Transportation	5	Develop plan for transportation to & from school

	(4%)	Support disabled parent attending child's appointments
Work or education	4	Mother to attend CareerLink resource fair
	(3%)	Help parent attain General Education Diploma
Legal issues	3	Apply for social security card
	(2%)	Navigate bankruptcy process
		Adoption of child by caregiver
Other	9	Access resources for warm clothing
	(7%)	Improve credit score

Supplemental Table 1: The association between each SDOH in the Health Leads Questionnaire with ≥ 1 missed appointment, ED visit or hospital admission in the prior year. *chi-squared test

Health Leads Social Determinants of Health Screening Question	≥ 1 missed appointment			≥ 1 ED visit			≥ 1 hospital admission		
	Yes (n=28)	No (n=25)	*p	Yes (n=27)	No (n=26)	*p	Yes (n=15)	No (n=38)	*p
In the last 12 months, did you ever eat less than you felt you should because there wasn't enough money for food?	9	2	0.043	6	5	0.9	3	8	0.9
In the last 12 months, has your utility company shut off your service for not paying your bills?	7	3	0.3	4	6	0.5	2	8	0.7
Are you worried that in the next 2 months, you may not have stable housing?	7	2	0.15	3	6	0.29	2	7	0.9
Do problems getting child care make it difficult for you to work or study?	5	2	0.4	3	4	0.7	1	6	0.7
In the last 12 months, have you needed to see a doctor, but could not because of cost?	4	0	0.11	2	2	0.9	1	3	0.9
In the last 12 months, have you ever had to go without health care because you didn't have a way to get there?	2	0	0.5	1	1	0.9	1	1	0.5
Do you ever need help reading	1	1	0.9	1	1	0.9	1	1	0.5

hospital materials?									
Are you afraid you might be hurt in your apartment building or house?	1	0	0.9	1	0	0.9	0	1	0.9